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1 Introduction

1.1 Objectives

Public Transportation System(0|3t PTS)2| ZZX QI #HZ Qs 24

AlSHS

ASUSICE Unit test= PTSS| HALHZY|, X|SHETHZ Y| S FAA

Ver. Identifier

CHofl =EXZ HADICE B unit teste A|2" SEE 25 2% &3u 7|&0

[}
CHsl Molstil HAE =350 2ot MEAIZES HAIBHC
1.2  References

T3.2014.PTS.SRA
T3.2014.PTS.SDS

2 Unit test case specification
2.1  Test case specification identifier

<BUS&SUBWAY> Test case ldentification

|dentifier Input Specification

Output Specification

%olo| FHEHEI} BT HAETIY

PTS_UTC_000_000

unarranged_data(&!
AELIYo| IhE @

o F8)

PTS_UTC_001_000 Unarranged_datal[2] =
{20141117195032, “BUS", "OUT", 5950, "B_1"},

{20141117195035, "BUS", “IN”, 5950, “B_2"}

Arranged_data2]

In == True

PTS_UTC_001_001 Unarranged_data[2] =
{20141117195032, "BUS", "OUT", 5950, “B_1"},

{20141117195035, "BUS", “IN”, 5950, “B_2"}

Arranged_data2|

Bus == True

PTS_UTC_001_002 Unarranged_data[2] =
{20141117195032, "SUBWAY", “IN", 5950, “S1_1"},
{20141117195035, "SUBWAY", “OUT", 5950, “S2_2"}

(and ORX|F E§ZLA|ZFO| SRYA|ZET} 15%50]LY)

Arranged_data2|

Trans == True

PTS_UTC_001_003 Unarranged_datal[2] =
{20141117195032, "SUBWAY", “OUT", 5950, “S1_1"},

{20141117195035, "BUS", “IN", 5950, "B_1"}

Arranged_dataZ2|
After == True

PTS_UTC_001_004 Unarranged_data[2] =
{20141117195032, "SUBWAY", "OUT", 5950, “S1_1"},

{20141117195035, "BUS", “IN”, 5950, “B_1"}

Arranged_data2|

Uncal_day == True

OO0 Team
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o[ 3t2(3E)7t Axt=s M

PTS_UTC_001_005

Unarranged_datal[2] =
{20141117195032, "SUBWAY", "OUT", 5950, “S1_1"},
{20141117195035, "SUBWAY, “IN", 5950, “S1_2"}

Arranged_data2|

Uncal_s == True

PTS_UTC_001_006

Unarranged_data[2] =
{20141117195032, "BUS", "OUT", 5950, "B_1"},
{20141117195035, “SUBWAY, “IN”, 5950, “S1_2"}

Arranged_data®]

Uncal_bs == True

PTS_UTC_001_007

Unarranged_data[2] =
{20141117195032, “SUBWAY", “OUT", 5950, “B_1"},
{20141117195035, "BUS, "IN”", 5950, “S1_2"

Arranged_data®]

Uncal_sb == True

PTS_UTC_001_008

Unarranged_datal[2] =
{20141117195032, "BUS", “OUT", 5950, “B_1"},
{20141117195035, "SUBWAY, “IN", 5950, “S1_2"}

Arranged_data2|

Uncal == True

PTS_UTC_001_009

Unarranged_datal[2] =

Arranged_data2|

{20141117195032, "BUS", "OUT", 5950, “B_1"}, Time ==

{20141117195035, “SUBWAY, “IN", 5950, “S1_2"} 20141117195035
PTS_UTC_001_010 Unarranged_data[2] = Arranged_dataZ2|

{20141117195032, "BUS", "OUT", 5950, “B_1"}, Lo == 5950

{20141117195035, "SUBWAY", “IN", 5950, “S1_2"}

PTS_UTC_001_011

Unarranged_data[2] =
{20141117195032, "BUS", “OUT", 5950, “B_1"},
{20141117195035, "SUBWAY", “IN”, 5950, “S1_2"}

Arranged_data2|
Info == S1.2

PTS_UTC_002_000

Unarranged_datal[2] =
{20141119133000, “,SUBWAY", “IN”, 10000, “S1_1"},
{20141119133010, “SUBWAY, "OUT", 10000, “S2_1"}

RidingEnable®t 4

2=

PTS_UTC_002_001

Unarranged_data[2] =
{20141119133000, “,SUBWAY", “IN", 10000, “S1_1"},
{20141119133010, “SUBWAY", "OUT", 200, “S2_1"}

ridingDisable® <=

SE

PTS_UTC_002_002

Unarranged_data[2] =

{20141119133000, “,SUBWAY", “IN", 10000, “S1_1"},
{20141119133010, "SUBWAY”, "OUT", 10000, “S2_1"}
(and OFX|9} EfIA|ZEDF SIXHA|ZEO| 1528 OfLY)

transferEnable®t 4=

SE

PTS_UTC_002_003

Unarranged_datal[2] =
{20141119133000, " SUBWAY”, “IN”, 10000, “S1_1"},
{20141119133010, “SUBWAY", “OUT", 100, “S2_1"}

transferDisable& 4=

SE

PTS_UTC_002_004

Unarranged_datal[2] =
{20141119133000, “BUS", “OUT", 10000, “B_1"},
{20141119133010, “BUS,” “IN”, 10000, “B_2"}

normalExitef+ =&

12
>
[m
e
U

OO0 Team



Ver. Identifier

PTS_UTC_002_005

Unarranged_data[2] =
{20141119133000, “"SUBWAY”, “OUT", 10000, “S1_1"},
{20141119133010, “BUS,” “IN”, 10000, “B_2"}

afterTransExite 4=

2F

PTS_UTC_002_006

Unarranged_datal[2] =
{20141119133000, "BUS", “OUT", 10000, “B_1"},
{20141119133110, “SUBWAY" “IN", 10000, “S1_2"}

afterSub_ESt+ &

PTS_UTC_002_007

Unarranged_data[2] =
{20141119133000, "BUS", “OUT", 10000, “B_1"},
{20141119133110, “SUBWAY" “IN", 100, “S1_2"}

fot

afterSub_D&f =

==

=

PTS_UTC_002_008

Unarranged_datal[2] =
{20141119133000, “"SUBWAY”, “OUT", 10000, “S1_1"},
{20141119133010, "BUS" “IN", 10000, "B_2"}

o

afterSubus_EgH4=

=
=

PTS_UTC_002_009

Unarranged_datal[2] =
{20141119133000, “SUBWAY", “OUT", 10000, “S1_1"},
{20141119133010, "BUS" “IN”, 100, "B_2"}

afterSubus_D&t4=

SE

PTS_UTC_002_010

Unarranged_data[2] =
{20141119133000, "BUS", “OUT", 10000, “B_1"},
{20141119133010, “SUBWAY" “IN", 10000, “S1_2"}

afterBusub_E&H=

°E

PTS_UTC_002_011

Unarranged_data[2] =
{20141119133000, "BUS", “OUT", 10000, “B_1"},
{20141119133010, “SUBWAY" “IN", 100, “S1_2"}

afterBusub D&%

°E

PTS_UTC_002_012

Unarranged_data[2] =
{20141119133000, "BUS", "OUT", 10000, “B_1"},
{20141119133110, "SUBWAY" “IN”, 10000, “S3_2"}

o

addFee¥t+ =

=
=

PTS_UTC_002_013

Unarranged_data[2] =
{20141119133000, "BUS", “OUT", 10000, "B_1"},
{20141119133110, "SUBWAY" “IN”, 10000, “S4_2"}

noAddFee N4

=k

PTS_UTC_002_014 | Unarranged_data[2] = addFeeOned®t+ =
{20141119133000, "BUS", "OUT", 10000, "B_1"}, =
{20141119133010, "SUBWAY" “IN", 10000, “S4_2"}

PTS_UTC_002_015 | Unarranged_data[2] = addFeeTwod+ =
{20141119133000, "BUS", "OUT", 10000, "B_1"}, =

{20141119133010, “"SUBWAY" “IN”, 10000, “S3_2"}

PTS_UTC_002_016

Unarranged_data[2] =
{20141119133000, “BUS", “OUT", 10000, “B_1"},
{20141119133010, “SUBWAY" “IN”, 10000, “S5_2"}

noAddFee Tef$ &

=

=

PTS_UTC_003_000

Arranged_data

{cname[20]="input.txt", time=20141117195035,

Display_command
(fee=1050, 0=4900)
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info[10]=B_2,
after=0,

lo=5950,

uncal_day=0,

bus=1,

uncal_s=0

in=0, trans=0,
uncal_bs=0

uncal_sb=0 uncal=0, sta=0}

?ofl ade 2Ol A= E20 sig=
{20141117195032, "BUS", “IN", 5950, "B_1"},
{20141117195035, “BUS, “OUT", 5950, “B_2"}

Writing_command
{fee=1050,
time=20141117195
035, vechicle="BUS",
inout="IN", l0=4900,
readerinfo="B_1",
cardInfo="B_1",

name="input.txt"}

PTS_UTC_004_000

Arranged_data

{cname[20]="input.txt", time=20141117195035,
info[10]=B_2, lo=100, in=0, bus=1, trans=0, after=0,
uncal_day=0, uncal_s=0 uncal_bs=0 uncal_sb=0

uncal=0, sta=0}

Display_command
{fee=0, lo=100)
Writing command
{fee=0}

PTS_UTC_005_000

Arranged_data
time=20141117195035,
bus=0,

uncal_s=1

{cname[20]="input.txt",
info[10]=B_2, lo=5950,
after=0, uncal_day=0,

in=1, trans=0,
uncal_bs=0

uncal_sb=0 uncal=1, sta=0}

Display_command
{fee=1250, lo=4700}
Writing_command
{fee=1250,
time=20141117195
035, vechicle="BUS",
inout="IN", 10=4700,
readerinfo="B_1",
cardIinfo="B_1",

name="input.txt"}

PTS_UTC_006_000

Arranged_data
{cname[20]="input.txt", time=20141117195035,
info[10]=B_2, lo=100, in=1, bus=0, trans=0, after=0,
uncal_day=0,

uncal_s=1 uncal_bs=0 uncal_sb=0

uncal=1, sta=0}

Display_command
{fee=0, lo=100}
Writing_command
{fee=0}

PTS_UTC_007_000

Arranged_data
time=20141117195035,
bus=1,

uncal_s=0

{cname[20]="input.txt",
info[10]=B_2, l0=5950,

after=1, uncal_day=0,

in=1, trans=0,
uncal_bs=0

uncal_sb=1, uncal=1, sta=0}

Display_command
{fee=1750, lo=4200}
Writing_command
{fee=1750,
time=20141117195
035, vechicle="BUS",
inout="IN", 10=4200,
readerinfo="B_1",
cardIinfo="B_1",

name="input.txt"}
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PTS_UTC_008_000

Arranged_data

{cname[20]="input.txt", time=20141117195035,
info[10]=B_2, lo=100, in=1, bus=1, trans=0, after=1,
uncal_day=0, uncal_s=0 wuncal_bs=0 uncal_sb=1,

uncal=1, sta=0}

Display_command
{fee=0, lo=100}
Writing_command
{fee=0}

PTS_UTC_009_000

Arranged_data
time=20141117195035,
bus=0,

uncal_s=0

{cname[20]="input.txt",
info[10]=S_2, lo=5950,

after=1, uncal_day=0,

in=1, trans=0,
uncal_bs=1

uncal_sb=0, uncal=1, sta=0}

Display_command
{fee=1650, lo=4300}
Writing_command
{fee=1650,
time=20141117195
035, vechicle="BUS",
inout="IN", l0o=4300,
readerinfo="B_1",
cardIinfo="B_1",

name="input.txt"}

PTS_UTC_010_000

Arranged_data
{cname[20]="input.txt", time=20141117195035,
info[10]=S_2, lo=100, in=1, bus=0, trans=0, after=1,
uncal_day=0,

uncal_s=0 uncal_bs=1 uncal_sb=0,

uncal=1, sta=0}

Display_command
{fee=0, lo=100}
Writing_command
{fee=0}

PTS_UTC_011_000

Arranged_data
time=20141117195035,
bus=1,

uncal_s=0

{cname[20]="input.txt",
info[10]=B_2, 10=5950,

after=0, uncal_day=0,

in=0, trans=1,
uncal_bs=0

uncal_sb=0, uncal=0, sta=0}

Display_command
{fee=0, lo=5950}
Writing_command
{fee=0,
time=20141117195
035, vechicle="BUS",
inout="IN", lo=5950,
readerinfo="B_2"
cardinfo="B_3",

name="input.txt"}

PTS_UTC_012_000

Arranged_data

{cname[20]="input.txt", time=20141117195035,
info[10]=B_2, lo=100, in=0, bus=1, trans=1, after=0,
uncal_day=0, uncal_s=0 uncal_bs=0 uncal_sb=0,

uncal=0, sta=0}

Display_command
{fee=0, lo=100}
Writing_command
{fee=0}

PTS_UTC_013_000

Arranged_data
time=20141117195035,
bus=1,

{cname[20]="input.txt",

info[10]=B_2, 10=5950, in=1, trans=0,

Display_command
{fee=0, lo=5950}

Writing_command
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after=0, uncal_day=0, uncal_s=0 uncal_bs=0

uncal_sb=0, uncal=0, sta=0}

{fee=0,
time=20141117195
035, vechicle="BUS",
inout="0OUT",
lo=5950,
readerinfo="B_3",
cardinfo="B_3",

name="input.txt"}

PTS_UTC_014_000

Arranged_data
time=20141117195035,
bus=0,

uncal_bs=0

{cname[20]="input.txt",
info[10]=S_2, 10=5950,
after=0, uncal_day=0,

in=1, trans=0,
uncal_s=0

uncal_sb=0, uncal=0, sta=2}

Display_command
{fee=200, lo=5750}
Writing_command
{fee=200,
time=20141117195
035,
vechicle="SUBWAY",
inout="0OUT",
lo=5750,
readerinfo="S_3",
cardinfo="S_3",

name="input.txt"}

PTS_UTC_015_000

Arranged_data
time=20141117195035,
bus=0,

uncal_s=0

{cname[20]="input.txt",
info[10]=S_2, 1lo=5950,
after=0, uncal_day=0,

in=1, trans=0,
uncal_bs=0

uncal_sb=0, uncal=0, sta=1}

Display_command
{fee=0, lo=5950}
Writing_command
{fee=0,
time=20141117195
035,
vechicle="SUBWAY”,
inout="0OUT",
lo=5950,
readerinfo="S_3",
cardinfo="S_3",

name="input.txt"}

PTS_UTC_016_000

Arranged_data
time=20141117195035,
bus=0,

uncal_s=0

{cname[20]="input.txt",
info[10]1=S_2, lo=5950,

after=1, uncal_day=0,

in=1, trans=0,
uncal_bs=0

uncal_sb=0, uncal=0, sta=1}

Display_command
{fee=300, lo=5650}
Writing_command
{fee=300,
time=20141117195
035,
vechicle="SUBWAY”,
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inout="0OUT",
lo=5650,
readerinfo="S_3",
cardinfo="S_3",

name="input.txt"}

PTS_UTC_017_000

Arranged_data
{cname[20]="input.txt",
info[10]=S_2, 10=5950,

after=1, uncal_day=0,

in=1,
uncal_s=0

uncal_sb=0, uncal=0, sta=2}

time=20141117195035,
bus=0,

Display_command
{fee=600, lo=5350}
Writing_command
{fee=600,
time=20141117195
035,
vechicle="SUBWAY",
inout="0OUT",
lo=5350,
readerinfo="S_3",
cardinfo="S_3",

name="input.txt"}

trans=0,

uncal_bs=0

PTS_UTC_018_000

Arranged_data

{cname[20]="input.txt",

time=20141117195035,

info[10]=S_2, 10=5950, in=1, bus=0, trans=0, | Writing_command

after=1, uncal_day=0, uncal_s=0 uncal_bs=0 | {fee=0,

uncal_sb=0, uncal=0, sta=0} time=20141117195
035,
vechicle="SUBWAY”,
inout="0OUT",
lo=5950,
readerInfo="S_3",
cardinfo="S_3",

Display_command
{fee=0, lo=5950}

name="input.txt"}

<Calculator> Test case Identification

Identifier

Input Specification

Output Specification

PTS_UTC_019_000

Bus.txt =
{20141120214623,BUS,IN,1050,B_1
20141120214627,BUS,IN,1050,B_2
20141120214855,BUS,IN,1050,B_1}
subway1.txt =
{20141120214641,SUBWAY,IN,1050,51_1}

Inputdata.txt =
{20141120214623,BUS,IN,1050,B_1
20141120214627,BUS,IN,1050,B_2
20141120214855,BUS,IN,1050,B_1
20141120214641,SUBWAY,IN,1050,51_1
20141120214653,SUBWAY,IN,1050,52_1
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subway2.txt =

{ 20141120214653,SUBWAY,IN,1050,52_1
20141120214747,SUBWAY,IN,1250,52_1}

subway3.txt =

{ 20141120214703,SUBWAY,IN,1250,53_1
20141120214708,SUBWAY,IN,1250,53_2
20141120214720,SUBWAY,0UT,0,S3_3}

subway4.txt =

{ 20141120214726,SUBWAY,IN,1250,54_1
20141120214731,SUBWAY,0UT,0,54_2}

subway5.txt =

{ 20141120214740,SUBWAY,IN,1050,S5_1}

20141120214747,SUBWAY,IN,1250,52_1
20141120214703,SUBWAY,IN,1250,S3_1
20141120214708,SUBWAY,IN,1250,53_2
20141120214720,SUBWAY,OUT,0,S3_3
20141120214726,SUBWAY,IN,1250,54_1
20141120214731,SUBWAY,OUT,0,54_2
20141120214740,SUBWAY,IN,1050,S5_1}

PTS_UTC_020_000

Inputdata.txt =
{20141120214623,BUS,IN,1050,B_1
20141120214627,BUS,IN,1050,B_2
20141120214855,BUS,IN,1050,B_1
20141120214641,SUBWAY,IN,1050,51_1
20141120214653,SUBWAY,IN,1050,52_1
20141120214747,SUBWAY,IN,1250,52_1
20141120214703,SUBWAY,IN,1250,S3_1
20141120214708,SUBWAY,IN,1250,5S3_2
20141120214720,SUBWAY,0UT,0,S3_3
20141120214726,SUBWAY,IN,1250,54_1
20141120214731,SUBWAY,0UT,0,54_2
20141120214740,SUBWAY,IN,1050,S5_1}

un_trans.txt =
{20141120214623,BUS,IN,1050,B_1
20141120214855,BUS,IN,1050,B_1
20141120214653,SUBWAY,IN,1050,52_1
20141120214747,SUBWAY,IN,1250,52_1}
un_bus.txt =
{20141120214627,BUS,IN,1050,B_2}
un_sub.txt =
{20141120214641,SUBWAY,IN,1050,51_1
20141120214703,SUBWAY,IN,1250,S3_1
20141120214708,SUBWAY,IN,1250,S3_2
20141120214720,SUBWAY,0UT,0,S3_3
20141120214726,SUBWAY,IN,1250,54_1
20141120214731,SUBWAY,0UT,0,54_2
20141120214740,SUBWAY,IN,1050,S5_1}

2.2 Test items

- 2.19] Test case Identification &=

2.3 Input specifications

- 2.19] Test case Identification &=

2.4 Output specifications

- 2.19| Test case Identification &=

3 Environmental needs

[E-II AE
o=

I
i
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PTS2| unit testE /T S&H &2 Ch=ar 2ot
IDE : Visual Studio
4 Unit test summary report
4.1 Test summary report identifier
<BUS&SUBWAY >
|dentifier Result

PTS_UTC_000_000 Passed
PTS_UTC_001_000 Passed
PTS_UTC_001_001 Passed
PTS_UTC_001_002 Passed
PTS_UTC_001_003 Passed
PTS_UTC_001_004 Passed
PTS_UTC_001_005 Passed
PTS_UTC_001_006 Passed
PTS_UTC_001_007 Passed
PTS_UTC_001_008 Passed
PTS_UTC_001_009 Passed
PTS_UTC_001_010 Passed
PTS_UTC_001_011 Passed
PTS_UTC_002_000 Passed
PTS_UTC_002_001 Passed
PTS_UTC_002_002 Passed
PTS_UTC_002_003 Passed
PTS_UTC_002_004 Passed
PTS_UTC_002_005 Passed
PTS_UTC_002_006 Passed
PTS_UTC_002_007 Passed
PTS_UTC_002_008 Passed
PTS_UTC_002_009 Passed
PTS_UTC_002_010 Passed
PTS_UTC_002_011 Passed

1=
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PTS_UTC_002_012 Passed
PTS_UTC_002_013 Passed
PTS_UTC_002_014 Passed
PTS_UTC_002_015 Passed
PTS_UTC_002_016 Passed
PTS_UTC_003_000 Passed
PTS_UTC_004_000 Passed
PTS_UTC_005_000 Passed
PTS_UTC_006_000 Passed
PTS_UTC_007_000 Passed
PTS_UTC_008_000 Passed
PTS_UTC_009_000 Passed
PTS_UTC_010_000 Passed
PTS_UTC_011_000 Passed
PTS_UTC_012_000 Passed
PTS_UTC_013_000 Passed
PTS_UTC_014_000 Passed
PTS_UTC_015_000 Passed
PTS_UTC_016_000 Passed
PTS_UTC_017_000 Passed
PTS_UTC_018_000 Passed
<Calculator>
Identifier Result
PTS_UTC_019_000 Passed
PTS_UTC_020_000 Passed

1=

4.2

Im
2
1

Evaluation

Total test case : 487}

Passed : 487|

Failed : 07H

OO0 Team
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